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	2017/Sep New 300-160 Exam Dumps with PDF and VCE Free Updated Today! Following are some new 300-160 Questions:

1.|2017 New 300-160 Exam Dumps (PDF & VCE) 403Q&As Download: https://www.braindump2go.com/300-160.html   2.|2017

New 300-160 Exam Questions & Answers Download:

https://drive.google.com/drive/folders/0B75b5xYLjSSNZ21HQjE0YzFwTWs?usp=sharing QUESTION 1What is one example of a

fully virtualized environment in the data center? A.    Hadoop clustersB.    VDIC.    vPCD.    VSAN Answer: B QUESTION 2Which

option is an advantage of utilizing hypervisor technology within a Cisco Unified Fabric data center environment? A.    distributed

load processingB.    availability of blade versus rack-mountable serversC.    reduced power and cooling requirementsD.    integrating

the virtual machines into the access layer Answer: A QUESTION 3Which option is a recommended practice when migrating from

an existing data center to a new data center? A.    Assign multiple virtual servers per one high-performance server.B.    Utilize the

hypervisor tools available to ensure processor compatibility.C.    Only migrate bare metal servers when transitioning from

rack-mountable to blade servers.D.    Utilize FabricPath across data centers to manage the migration. Answer: B QUESTION 4When

migrating to a Cisco Unified Fabric data center network, which transitions will you expect to see? A.    rack-mountable to blade

serversB.    physical to virtual machinesC.    Fibre Channel to FCoED.    iSCSI to NAS Answer: C QUESTION 5What are common

switching protocols that are used in the data center? (Choose two.) A.    Token RingB.    FDDIC.    EthernetD.    MPLSE.    Frame

RelayF.    APPN/APPI Answer: CD QUESTION 6What are traits of a routing protocol used in a data center? (Choose two.) A.   

proprietary and secureB.    fast route convergenceC.    support for ECMPD.    support for LACPE.    support for large hop limit

Answer: BC QUESTION 7Which two technologies minimize or eliminate the need for STP in the data center? (Choose two.) A.   

OTVB.    FabricPathC.    BPDUD.    vPCE.    VDCF.    MPLS Answer: BD QUESTION 8Which two FEX topologies trade

deterministic bandwidth for server-link stability during FEX uplink failure? (Choose two.) A.    port channelB.    static pinningC.   

virtual port channelD.    dynamic pinningE.    Equal-Cost MultipathF.    RPVST Answer: AC QUESTION 9Which FEX topology

ensures deterministic bandwidth at the expense of server-link stability during FEX uplink failure? A.    port channelB.    static

pinningC.    virtual port channelD.    dynamic pinningE.    Equal-Cost MultipathF.    RPVST Answer: B QUESTION 10When

multicast traffic is a required design element, why is the Cisco UCS 6248UP a better choice than the Cisco UCS 6140XP? A.   

Cisco UCS 6140XP does not allow multicast traffic propagation.B.    Cisco UCS 6140XP does not support IGMP snooping on

uplink interfaces.C.    Cisco UCS 6248UP employs separate unicast and multicast egress queues.D.    Cisco UCS 6248UP supports

PIM dense mode rendezvous points.E.    Cisco UCS 6248UP supports dynamic queue mapping of IGMP v3 requests. Answer: C

QUESTION 11Your customer has a PCI requirement to protect with a firewall access layer servers that process Visa transactions.

Which Cisco Firewall Services Module deployment topology will have the least impact on existing IP addressing? A.    Transparent

B.    One-ArmC.    RoutedD.    InlineE.    Clustered Answer: A QUESTION 12Which Cisco ACE Service Module deployment

topology allows direct access to the servers foradministration but requires either SNAT or PBR for load-balanced HTTP traffic

returning from the server? A.    TransparentB.    One-ArmC.    RoutedD.    InlineE.    Asymmetric Server Normalization Answer: B

QUESTION 13Which two devices are Cisco recommended for a ToR data center design for access layer connectivity? (Choose

two.) A.    Cisco Nexus 7000 SeriesB.    Cisco Nexus 5500 SeriesC.    Cisco Nexus 4000 SeriesD.    Cisco Nexus 3000 SeriesE.   

Cisco Nexus 2000 Series Answer: BE   !!!RECOMMEND!!!    1.|2017 New 300-160 Exam Dumps (PDF & VCE) 403Q&As

Download: https://www.braindump2go.com/300-160.html   2.|2017 New 300-160 Exam Questions & Answers Download: 

YouTube Video: YouTube.com/watch?v=DADPr4lm2as
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